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Question Id : 9209067285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Mumbai message

Shinde survives. But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra’s MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy available now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJPs Rahul
MNarwekar, connot rely on just numbers but has to use Shiv Sena's constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key plaver in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Rebia case) to a large bench because of
contradictory reasoning’. In the interim, it's given the speaker power to helm proceedings on
defection, subject to jusdical review. The other critical actor in defection is the state's
governor. Here, SC has once again emphasized that they have limited diseretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which iz where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC's stance is very clear. The
rajyapals should take note.

Sub questions

Question Number : 1 Question Id : 9209067286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The word meddle refers to:

(1) Mediator, who brings about an agreement.
(2) Medial, that is situated in middle.
(3 One who interferes that is not one’s concern.

(4) Meek, one who is gentle.

Options :

92090628801. 1
92090628802. 2
92090628803. 3
92090628804. 4

Question Number : 2 Question Id : 9209067287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement | : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement I1 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement 1 and Statement [ are incorrect
(3) Statement [ is true but Statement I is incorrect

(4) Statement | is false but Statement Il is correct

Options :

92090628805. 1
92090628806. 2
92090628807. 3
92090628808. 4

Question Number : 3 Question Id : 9209067288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements read the following statements:

Statement | : A floor test is not the platform to resolve interparty dispute.

Statement 11 : The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct

i2) Both Statement I and Statement 11 are incorreet
(3 Statement [ is true but Statement 11 i incorrect
(4) Statement I is false but Statement I1 is correct

Options :

92090628809. 1
92090628810. 2
92090628811. 3
92090628812. 4

Question Number : 4 Question Id : 9209067289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Diseretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3 Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.

Options :

92090628813. 1
92090628814. 2
92090628815. 3
92090628816. 4



Question Number : 5 Question Id : 9209067290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B} relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(D)  based on such reasoning which were denying the truth by asserting the opposite.

(1) (A). (B)
(2) (B). (O)
(3) (A). (O)
(4) (B}, (D)

Options :

92090628817. 1
92090628818. 2
92090628819. 3
92090628820. 4
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Mumbai message

Shinde survives. But SC makes clear party has primacey over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra's MVA government in June 2022, The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the hench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legislators. This may mean that the current Maharashtra assembly speaker, BJP's Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena’s constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key plaver in the tenth schedule. Here the S3C judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Hebia case) to a large bench because of
contradictory reasoning’. In the interim, it's given the speaker power to helm proceaedings on
defection, subject to jusdical review. The other critical actor in defection is the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which iz where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC's stance 1s very clear. The
rajyapals should take note.

Sub questions

Question Number : 1 Question Id : 9209067286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word meddle refers to:

(1)

Mediator, who brings about an agreement.

(2) Medial, that is situated in middle.
(3 One who interferes that is not one's concern.
(4) Meek, one who is gentle.

Options :

92090628801. 1
92090628802. 2



92090628803. 3
92090628804. 4

Question Number : 2 Question Id : 9209067287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement | : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement I1 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement 1 and Statement [ are incorrect
(3) Statement [ is true but Statement I is incorrect
(4) Statement | is false but Statement Il is correct

Options :

92090628805. 1
92090628806. 2
92090628807. 3
92090628808. 4

Question Number : 3 Question Id : 9209067288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements read the following statements:

Statement | : A floor test is not the platform to resolve interparty dispute.

Statement 11 :  The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

{1) Both Statement | and Statement Il are correct
{2) Both Statement I and Statement Il are incorrect
(3) Statement [ is true but Statement Il is incorrect

(4) Statement I is false but Statement 11 is correct

Options :

92090628809. 1
92090628810. 2
92090628811. 3
92090628812. 4

Question Number : 4 Question Id : 9209067289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.

Options :

92090628813. 1
92090628814. 2
92090628815. 3
92090628816. 4

Question Number : 5 Question Id : 9209067290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement. of a High Court.

(Bj relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(D)  based on such reasoning which were denying the truth by asserting the opposite.

(1) (A), (B)
(2) (B). (C)
(3) (A), (C)
(4) (B), (D)

Options :

92090628817. 1
92090628818. 2
92090628819. 3
92090628820. 4

Sub-Section Number : 2
Sub-Section Id : 920906232
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209067291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Your behavior is not ericket means you have not behaved

(1) in intelligent manner
(2) in an honourble way
(3) As a dark horse

{

1) In 2 couraglous manner.

Options :

92090628821. 1
92090628822. 2
92090628823. 3
92090628824. 4

Question Number : 6 Question Id : 9209067291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Your behavior is not ericket means you have not behaved

(1) in intelligent manner

(2) in an honourble way

(3) As a dark horse

(4) in & couragious manner.
Options :

92090628821. 1
92090628822. 2
92090628823. 3
92090628824. 4

Question Number : 7 Question Id : 9209067292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT" 1s:

(1) Grant
(2) Agree
(3) Permit
{4) Accept
Options :

92090628825. 1
92090628826. 2
92090628827. 3
92090628828. 4

Question Number : 7 Question Id : 9209067292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT” ia:

(1) Grant
(2) Agree
(3 Permit
{4) Accept
Options :

92090628825. 1
92090628826. 2
92090628827. 3



92090628828. 4

Question Number : 8 Question Id : 9209067293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE" is:

(1) Donation

(2) Support

(3) Espionage

(4) Beneficiary
Options :

92090628829. 1
92090628830. 2
92090628831. 3
92090628832. 4

Question Number : 8 Question Id : 9209067293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE" is:

) Donation
) Support
3) Espionage

1) Beneficiary

Options :

92090628829. 1
92090628830. 2
92090628831. 3
92090628832. 4

Question Number : 9 Question Id : 9209067294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option that inproves the given statement grammatieally. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.

(2) A majority of students believe that the examinations have been necessary.
(3) A majority of students helieve that the examinations are being neceszary.
() No improvement.

Options :

92090628833. 1
92090628834. 2
92090628835. 3
92090628836. 4

Question Number : 9 Question Id : 9209067294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option that inproves the given statement grammatieally. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.

(2) A majority of students believe that the examinations have been necessary.
(3) A majority of students believe that the examinations are being necessary.
() No improvement.

Options :

92090628833. 1
92090628834. 2
92090628835. 3
92090628836. 4

Question Number : 10 Question Id : 9209067295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A place with cireular eurrents of water, which can pull objects down into it: -

(1) Wheel lock (2)  Wheelic
(3) Wheeler (4) Whirlpool

Options :
92090628837. 1



92090628838. 2
92090628839. 3
92090628840. 4

Question Number : 10 Question Id : 9209067295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with cireular currents of water, which can pull objects down into it: -

(1} Wheel lock (2}  Wheelic
(3) Wheeler (4)  Whirlpool

Options :

92090628837. 1
92090628838. 2
92090628839. 3
92090628840. 4

Question Number : 11 Question Id : 9209067296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money invested on simple intrest at 15% per annual fetched Hs 10,350 as
intrest in 3 vears find the sum invested

(1) Rs.22800
(Z) Rs.23000
(3) Rs.24000
(

£
£,

4} Rs.24500

Options :

92090628841. 1
92090628842. 2
92090628843. 3
92090628844. 4

Question Number : 11 Question Id : 9209067296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A certain sum of money invested on simple intrest at 15% per annual fetched Rs.10.350 as
intrest in 3 vears find the sum invested

(1) Rs.22800
(2) H=.23000
(3) Rs.24000
(4} Rs.24500
Options :
92090628841. 1
92090628842. 2

92090628843. 3
92090628844. 4

Question Number : 12 Question Id : 9209067297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
B0cm if the vessel iz partly filled with water and the sphese dropped in it is completely
immersed than by how much vthe water level increases?

{1) 25cm
(2) 22 hem
(3) 22em
(4) 21.8%em
Options :

92090628845. 1
92090628846. 2
92090628847. 3
92090628848. 4

Question Number : 12 Question Id : 9209067297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
Blem if the wessel iz partly filled with water and the sphese dropped in it is completely
immersed than by how much ythe water level increases?

(1) 2hem
(2) 22 Hem
(3) 22em
(4) 21 Bem

Options :

92090628845. 1
92090628846. 2
92090628847. 3
92090628848. 4

Question Number : 13 Question Id : 9209067298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs. 42000. After 2 month Reena joined her by
investing Rs. 35000. Profit at the end of 10 month was Hs.315% Heena's share in the profit
{in Rs.) is:

(1) 12,400 (2) 12,628
(3 12,825 (4) 12,98D
Options :

92090628849. 1
92090628850. 2
92090628851. 3
92090628852. 4

Question Number : 13 Question Id : 9209067298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs, 42000, After 2 month Reena joined her by
investing Rs. 35000. Profit at the end of 10 month was Rs.315% Reena's share in the profit
(in Rs.) is:

(1) 12,400 (2) 12,628

(3) 12,825 (4) 12,980

Options :
92090628849. 1



92090628850. 2
92090628851. 3
92090628852. 4

Question Number : 14 Question Id : 9209067299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 10°+7+243° = x*+3
(1) 21 (2) 22
(3) 23 (4) 24

Options :

92090628853. 1
92090628854. 2
92090628855. 3
92090628856. 4

Question Number : 14 Question Id : 9209067299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|
Find the value of “x” is the following 1024744243 ° = x2+5
(1) 21 (2) 22
(3) 23 (4) 24

Options :

92090628853. 1
92090628854. 2
92090628855. 3
92090628856. 4

Question Number : 15 Question Id : 9209067300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

1
day and walk with speed 15 times of the previous speed then in how many days will he

cover 840km?

(1) 39 (2) 33
(3) 5 Hi] (4 a7

Options :

92090628857.
92090628858.
92090628859.
92090628860.

AW N =

Question Number : 15 Question Id : 9209067300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a
1
day and walk with speed 1E times of the previous speed then in how many days will he

cover 840km?

(1) 39 (2) 33
(3) 35 {4 a7

Options :

92090628857.
92090628858.
92090628859.
92090628860.

B WO =

Question Number : 16 Question Id : 9209067301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Rawvi?

(1 Grandfather
(2) Father

(3 Uncle

{

1) Brother- in- low

Options :



92090628861. 1
92090628862. 2
92090628863. 3
92090628864. 4

Question Number : 16 Question Id : 9209067301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Ravi?

1) Grandfather
) Father
H Unecle

4) Brother- in- low

Options :

92090628861. 1
92090628862. 2
92090628863. 3
92090628864. 4

Question Number : 17 Question Id : 9209067302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o o
o o
Q
[=]
o a [+]
=] Q
o oo o
[+]
[+]
L#] (4]
(1) 2
(2) 4
(3) 5
(4) 6
Options :

92090628865. 1
92090628866. 2
92090628867. 3
92090628868. 4

Question Number : 17 Question Id : 9209067302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o o
o o
o
o
o oo
o o
o oo o
o
o
o o
(1) 2
(2) 4
(3) 5]
(4) (3]

Options :

92090628865. 1
92090628866. 2
92090628867. 3
92090628868. 4

Question Number : 18 Question Id : 9209067303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 4787

(1) 470
(2) 487
(3) 471
(4) 474

Options :
92090628869. 1



92090628870. 2
92090628871. 3
92090628872. 4

Question Number : 18 Question Id : 9209067303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 4787

(1) 470
(2) 487
(3) 471
(4) 474

Options :

92090628869. 1
92090628870. 2
92090628871. 3
92090628872. 4

Question Number : 19 Question Id : 9209067304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Answer the following question by studying the statement and assumptions.
Statemenent: - It is desirable to put the child in school at the age of 5 or 50.

Assumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[I. The schools do not admit children after six vears of age.

(1) Only assumption | iz implicit.
i(2) Only assumption Il is implicit.
{3 Either [ or 11 is implicit.

i4) Meither | or I is implicit.

Options :

92090628873. 1
92090628874. 2
92090628875. 3
92090628876. 4



Question Number : 19 Question Id : 9209067304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Answer the following question by studying the statement and assumptions.
Statemenent: - 1t is desirable to put the child in school at the age of 5 or 50.

Assumptions: - 1. At that age the child reaches appropriate level of deévelopment and is
ready to learn.

[I. The schools do not admit children after six vears of age.

(1) Only assumption | iz implicit.
(2) Only assumption [1 is implicit.
(3) Either [ or 11 is implicit.

(4) MNeither | or 11 is implicit.

Options :

92090628873. 1
92090628874. 2
92090628875. 3
92090628876. 4

Question Number : 20 Question Id : 9209067305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
walks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest
(2 6 km southwest
(3 5 km southwest

(4 5 km northeast

Options :

92090628877. 1
92090628878. 2
92090628879. 3
92090628880. 4

Question Number : 20 Question Id : 9209067305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
walks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest
(2 6 km southwest
(3 5 km southwest

(4 5 km northeast

Options :

92090628877. 1
92090628878. 2
92090628879. 3
92090628880. 4

Question Number : 21 Question Id : 9209067306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT:

List I List I1
Term Deal with
{A) Obstetrics (I)  Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
() Olericulture (IIT) The storsy of bones
(D) Osteclogy (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(IV), (C)-(I), (D)-(I1I)
(2} (A)-(I1T), (B)-(IV). (C)-(T). (D)-(1I)
(3) (A)-(IV), (B)-(ID), (C)-(1). (D)-(I1I)
(4) (A)-(ID, (B)-(IV). (C)-(I1I). (D)-(I)

Options :

92090628881. 1
92090628882. 2
92090628883. 3
92090628884. 4

Question Number : 21 Question Id : 9209067306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List IT
Term Deal with
(A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
() Olericulture (IIT) The storsy of bones
(D) Osteclogy (IV) ascience and story of teeth

Choose the correct answer from the options given below:

{1) (A)-(I1), (B)-(IV), (C)-(T), (D)-(I1T)
(2) (A)-(IIT), (B)-(AV). (C)-(I). (D)-(1D)
(3) (A)-(IV). (B)-(IT). (C)-(D). (D)-(11D)
(4) (A)-(ID), (B)-(IV). (C)-(HI), (D)-(T)

Options :

92090628881. 1
92090628882. 2
92090628883. 3
92090628884. 4

Question Number : 22 Question Id : 9209067307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4} Propane and Ethane

Options :

92090628885. 1
92090628886. 2
92090628887. 3
92090628888. 4

Question Number : 22 Question Id : 9209067307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4} Propane and Ethane

Options :

92090628885. 1
92090628886. 2
92090628887. 3
92090628888. 4

Question Number : 23 Question Id : 9209067308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statements are:
(A) The first person to enter space is Edward White.
(B} The first country to send man on the moon is USA.

(C) The first Indian to go into space is Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given helow :

(1) {A) & (B) only

(2) {A). (B) and (C) only
(3 (B) and (1)) only

(4) (B) and (C') only

Options :

92090628889. 1
92090628890. 2
92090628891. 3
92090628892. 4

Question Number : 23 Question Id : 9209067308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements are:
(A) The first person to enter space is Edward White.
(B} The first country to send man on the moon is USA.

(C) The first Indian to go into space i= Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

(Choose the correct answer from the options given below :

(1) {A) & (B) only

(2) {A), (B) and (C) only
(3 (B) and (1) only

(4) (By and (C) only

Options :

92090628889. 1
92090628890. 2
92090628891. 3
92090628892. 4

Question Number : 24 Question Id : 9209067309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3) Atharvea Veda
(4) Rig Veda

Options :

92090628893. 1
92090628894. 2
92090628895. 3
92090628896. 4

Question Number : 24 Question Id : 9209067309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the Vedas mainly consizsts of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3) Atharvea Veda
(4) Rig Veda

Options :

92090628893. 1
92090628894. 2
92090628895. 3
92090628896. 4

Question Number : 25 Question Id : 9209067310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article S1-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement 1 and Statement [1 are correct
(2) Both Statement 1 and Statement Il are incorrect
(3 Statement 1 is true but Statement 11 is incorrect
(4) Statement [ is false but Statement 11 is correct

Options :

92090628897. 1
92090628898. 2
92090628899. 3
92090628900. 4



Question Number : 25 Question Id : 9209067310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article 51-A of Indian constitution is

adapted from French constitution

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement [1 are correct

(2) Both Statement 1 and Statement [ are incorrect

(3 Statement 1 is true but Statement 11 is incorrect

(4) Statement [ is false but Statement 11 is correct
Options :

92090628897. 1
92090628898. 2
92090628899. 3
92090628900. 4

Part B: Political Science

Section Id : 920906146
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear

Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 920906233
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209067311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not a part of the central theme of green ideology?
1. Holism
2. From being to having
3.  Ecology

4.  Sustainability

Options :

92090628901. 1
92090628902. 2
92090628903. 3
92090628904. 4

Question Number : 26 Question Id : 9209067311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafaa & 9 = sivd AERyRT &1 e 3 981 82

(1)  HHYAIG (BlfereH)
(2)  Sf&id A w51 d@ (Breien ¢ afdm
(3) uRfRufdst
(4)  HYRUYC
Options :

92090628901. 1
92090628902. 2
92090628903. 3
92090628904. 4



Question Number : 27 Question Id : 9209067312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not a principle of Utilitarianism?
1.  Greatest good of the greatest number
2. Government is a necessary evil
3. State is a natural necessity
4. Maximum happiness of maximum number

Options :

92090628905. 1
92090628906. 2
92090628907. 3
92090628908. 4

Question Number : 27 Question Id : 9209067312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fraftifad 7 3 S Iudifidare @1 v Rigid 78l 2

(1) Sffiman a &1 siitieman fgd (2) DR UF AaLTH TS o
(3) 9 U fT® axgddl & (4) 3MfEHan anll & iftdar wd

Options :

92090628905. 1
92090628906. 2
92090628907. 3
92090628908. 4

Question Number : 28 Question Id : 9209067313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An example of direct democracy is
1.  Social-Communist style
2.  Anglo-American type
3.  Athenian type

4. Egyptian type

Options :

92090628909. 1
92090628910. 2
92090628911. 3
92090628912. 4

Question Number : 28 Question Id : 9209067313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U @bad &1 U JaleUl &l 52

(1)  HHISS — raaE] aliel (FEd)
(2)  3{7Td — HANHI UPR
(3) U UPR (UARREE eEn)
4) il yoR @fSieneE esn)
Options :
92090628909. 1
92090628910. 2

92090628911. 3
92090628912. 4

Question Number : 29 Question Id : 9209067314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Guild Socialist theory
1. Advocates industrial democracy
2.  Advocates territorial democracy
3.  Advocates community of feeling based on economic interests

4.  Protects individual from tyranny

Options :

92090628913. 1
92090628914. 2
92090628915. 3
92090628916. 4

Question Number : 29 Question Id : 9209067314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e rreare] gl et IRIGN &dl 67

(1) 3N dieda

(2) &g e died

(3)  onfde fed ur smenfia GHeE™ &1 WiaA
(4) SRR ¥ HfddTd e

Options :

92090628913. 1
92090628914. 2
92090628915. 3
92090628916. 4

Question Number : 30 Question Id : 9209067315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following was a magazine started by Mahatma Gandhi in South
Africa?

1.  Young India
2.  Harijan
3. Indian Opinion

4.  Hind Swaraj

Options :

92090628917. 1
92090628918. 2
92090628919. 3
92090628920. 4

Question Number : 30 Question Id : 9209067315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeTdH1 Tl 3 <féur smpiee & Fafaiaa d 9 69 ufEe &1 R g un

(1)  dmsfEar (2) BRHA
(3) sfega sifufAga @) fee S
Options :

92090628917. 1
92090628918. 2
92090628919. 3
92090628920. 4

Question Number : 31 Question Id : 9209067316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which two among the following did B. R. Ambedkar identify as critics of social
reform in India?

1.  Radicals and Anarchists

2. Anarchists and Socialists

3. Political Reformers and Socialists
4. Political Reformers and Anarchists

Options :

92090628921. 1
92090628922. 2
92090628923. 3
92090628924. 4

Question Number : 31 Question Id : 9209067316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dl. oM. srdEH A Fufiied A 9 57 3 & YRd 8 Imifee guR & JeEs] & €9 3§
ggaH &t di?

(1)  3myd uRad=ard 3R SRS arard!
(2)  SRISHAEIg! 3R GHISAIG]

(3) SIS GURS 3R GHER]

(4) VSIS YURS 3R SRSGArard]

Options :

92090628921. 1
92090628922. 2
92090628923. 3
92090628924. 4

Question Number : 32 Question Id : 9209067317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following regional parties does not have a regional-ethnic
character?

1. TDP in Andhra Pradesh
2. AGP in Assam
3. AIADMK in Tamil Nadu

4. AAP in Delhi

Options :

92090628925. 1
92090628926. 2
92090628927. 3
92090628928. 4

Question Number : 32 Question Id : 9209067317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiea 7 @ frw veifaes urdl @ aEtg-werdiy siitee 781 82

(1) Sy e # A8 (2) SEHHTE.
(3) dfEArg § Uers Sl @) fooel H 3y (AAP)
Options :

92090628925. 1
92090628926. 2
92090628927. 3
92090628928. 4

Question Number : 33 Question Id : 9209067318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not an official actor of public policy?
1. Political parties
2. Judiciary
3.  Administrators
4. Executive

Options :

92090628929. 1
92090628930. 2
92090628931. 3
92090628932. 4

Question Number : 33 Question Id : 9209067318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafag o 4 o gde® Hifd &1 snfisRe Fal (SbREd tae) 96l 87

(1)  AeHITae grefai (2) =graurfereT
(3) UIEEH (4) HRUTeTeT
Options :

92090628929. 1
92090628930. 2
92090628931. 3
92090628932. 4

Question Number : 34 Question Id : 9209067319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following scholars described the shift from an interventionist to
a regulatory State in India?

1. Partha Chatterjee
2. Rajni Kothari
3. Lloyd Rudolph and Susanne Rudolph

4. John Harriss

Options :

92090628933. 1
92090628934. 2
92090628935. 3
92090628936. 4

Question Number : 34 Question Id : 9209067319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofaied o 9 9 9 3 YR ¥ o8 sauaR] ¥ U Fams T aF & uiadd &
guiF e 82

(1) ges (2) oA BIBRI
(3) TIHS Felah R U Ealeh @) oA gRd

Options :

92090628933. 1
92090628934. 2
92090628935. 3
92090628936. 4

Question Number : 35 Question Id : 9209067320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The International Court of Justice is located at
1. New York
2. (Geneva
3. The Hague

4. Brussels

Options :

92090628937. 1
92090628938. 2
92090628939. 3
92090628940. 4

Question Number : 35 Question Id : 9209067320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRIPTY =raTey Hel Sfafeyd g7

(1) guid (2) S
(3 T@m 4) o
Options :

92090628937. 1
92090628938. 2
92090628939. 3
92090628940. 4

Question Number : 36 Question Id : 9209067321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term of the Lok Sabha was extended to six years by which of the following
amendment?

1.  41st Constitutional Amendment Act
2. 42nd Constitutional Amendment Act
3.  43rd Constitutional Amendment Act

4. 44th Constitutional Amendment Act

Options :

92090628941. 1
92090628942. 2
92090628943. 3
92090628944. 4

Question Number : 36 Question Id : 9209067321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofalEad # O (59 92y & gRI 69 1 FAPIT &8 I8 dP derdl 1 Y12

(1) 41 didfae= SeneA (2) 42 i dfdur w2
(3) 43 gi Gfaemr S (4) 44 9 Gy 2=
Options :

92090628941. 1
92090628942. 2
92090628943. 3
92090628944. 4

Question Number : 37 Question Id : 9209067322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When the President of India addresses a joint session of the Parliament, who
presides over the session?

1. Speaker of the Lok Sabha

2. Deputy Speaker of the Lok Sabha
3. Chairman of the Rajya Sabha

4. No one presides over the session

Options :

92090628945. 1
92090628946. 2
92090628947. 3
92090628948. 4

Question Number : 37 Question Id : 9209067322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od URd & WUE & Ygad AHAYH B Gt HIa)/Hd € O B 39 SEEYH $i
SR Bl 67

(1) Tl T BT g
(2)  TIHAH B IUTeHe
(3) ST T T e
@) @3 W 39 UEYE BT Sremerdl Te] Hidl 8

Options :

92090628945. 1
92090628946. 2
92090628947. 3
92090628948. 4

Question Number : 38 Question Id : 9209067323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following taxes does not come under the Union List?
1.  Corporation tax
2.  Capitation tax
3. Taxes on income other than agricultural income

4. Taxes on the capital of companies

Options :

92090628949. 1
92090628950. 2
92090628951. 3
92090628952. 4

Question Number : 38 Question Id : 9209067323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafEa 7 8 #1991 2 99 gl & siarfd Tl s g2

(1) R (@RURYE &) (2) WU eafed & (P o)
(3) DPHATD SIS IR NG A WHT (4) FUHTl B Yol W IR

Options :

92090628949. 1
92090628950. 2
92090628951. 3
92090628952. 4

Question Number : 39 Question Id : 9209067324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the history of Parliament of India, how many times the parliamentary
proceedings were censured?

1.  Never

2. Once

3.  Twice

4.  Thrice
Options :

92090628953. 1
92090628954. 2
92090628955. 3
92090628956. 4

Question Number : 39 Question Id : 9209067324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HROD G4 & sidgrd # THeid Sdledl &1 fa-l aR 9% fdear T

(1) el (2) UHER
(3) <IER 4) dHFER
Options :

92090628953. 1
92090628954. 2
92090628955. 3
92090628956. 4

Question Number : 40 Question Id : 9209067325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first delimitation was carried out under whose office?
1.  Prime Minister
2. President
3.  Union Minister of Law

4.  Chief Justice

Options :

92090628957. 1
92090628958. 2
92090628959. 3
92090628960. 4

Question Number : 40 Question Id : 9209067325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uyH gfRiiaA fas ug (3iTTop) & Siavid foear T
(1) U R (2) gufd

(3)  harg fafe w5 4) = =i
Options :

92090628957. 1
92090628958. 2
92090628959. 3
92090628960. 4

Question Number : 41 Question Id : 9209067326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The book authored by John Rawls on justice in international relations is
1. A Theory of Justice
2.  Political Liberalism
3.  Social Justice in a Liberal State

4. The Law of Peoples

Options :

92090628961. 1
92090628962. 2
92090628963. 3
92090628964. 4

Question Number : 41 Question Id : 9209067326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WEed 3 SeAeFd RAE 1R o 9F Id &1 Qo [hu an o 82
(1) A g (2) IS IGRAE
(3) UP IR I grHi® g (4) e fafe

Options :

92090628961. 1
92090628962. 2
92090628963. 3
92090628964. 4

Question Number : 42 Question Id : 9209067327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Plato's theory of men and metals, the rulers have

1. silver

2. bronze

3. gold

4. iron
Options :

92090628965. 1
92090628966. 2
92090628967. 3
92090628968. 4

Question Number : 42 Question Id : 9209067327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wl ¥ afed ud g & FEid & SFUR IS & U a9 8T 82

(1)  =idl (2) T (S
3) @@ (4) e
Options :

92090628965. 1
92090628966. 2
92090628967. 3
92090628968. 4

Question Number : 43 Question Id : 9209067328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which among the following is not Marx’s Laws of Dialectics?
1.  Negation of negation
2. Increase in quality leads to quantitative change

3 Increase In quantity leads to qualitative change

4. Unity and struggle of opposites



Options :

92090628969. 1
92090628970. 2
92090628971. 3
92090628972. 4

Question Number : 43 Question Id : 9209067328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiRad § 9 o1 91 7id &1 §5IdS a1 P Saalcad Fran 8l 82

(1)  Fmy s Fuy
(2)  TUrE H 9l e YRdadH &1 Al URRd i
(3)  HEH Sl UIE TR URdaH BT AR TR Sl o
(4)  wiquigi o1 vedr 3R Hud

Options :

92090628969. 1

92090628970. 2

92090628971. 3
92090628972. 4

Question Number : 44 Question Id : 9209067329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who said the following?

“Can you have economic reform without first bringing about a reform of the
social order?”

1. B. R. Ambedkar
2. Jyotiba Phule
3.  Pandita Ramabai

4. M. K. Gandhi

Options :

92090628973. 1
92090628974. 2
92090628975. 3
92090628976. 4



Question Number : 44 Question Id : 9209067329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 Tg HE1 o1 &1 1Y Ugd ArHTfors gyl § YR e faA1 ofie urR &% 9% g7

(1) dL3R FEsHY (2) Hifder pad
(3) UfgarwEs (4) TAP. T
Options :

92090628973. 1
92090628974. 2
92090628975. 3
92090628976. 4

Question Number : 45 Question Id : 9209067330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thomas Hobbes defined sovereignty as
1. the power of the people to question the king
2. the right of the citizen to elect governments
3. the monopoly of coercive power of singular ruler
4.  the duty of the ruler to serve people

Options :

92090628977. 1
92090628978. 2
92090628979. 3
92090628980. 4

Question Number : 45 Question Id : 9209067330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JTHY Bled 7 TR &1 fog ¥a § ufyifer faar ur

(1) ST Uy S B A0 D1 2fad

(20 WBRI I g1 BT ANNG 61 PR

(3) UHd US & 90-TaN (GIR-SaRew) &1 Uid &1 taiieR
(4) I P AN B Tl BT Hasd

Options :

92090628977. 1
92090628978. 2
92090628979. 3
92090628980. 4

Question Number : 46 Question Id : 9209067331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Equality of opportunity means
1. everybody is equal before law
2. an equal opportunity to become unequal
3. everybody has equal opportunity

4. everybody has equal talents and skills

Options :

92090628981. 1
92090628982. 2
92090628983. 3
92090628984. 4

Question Number : 46 Question Id : 9209067331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3EYR &1 AT &1 37 31 g2

(1) &S gne yde sfdd 9WH §
(2)  SHUE g & e A S{TwR
(3) Ul Al B FHF W UK §
(4) Ud® sdiad H GHE UfaHl (@de) iR SIYa &

Options :

92090628981. 1
92090628982. 2
92090628983. 3
92090628984. 4

Question Number : 47 Question Id : 9209067332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The idea of hegemony is a key concept in the writings of
1. Francis Fukuyama
2. Antonio Gramsci
3.  Eric Hobsbawm
4. Alexandra Kollontai

Options :

92090628985. 1
92090628986. 2
92090628987. 3
92090628988. 4

Question Number : 47 Question Id : 9209067332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faes o § ST &1 fIaR U TReT S{auRul 82

(1) Wil g (2) wers umi
(3) UR® giEH (4) Uddsisy dards
Options :

92090628985. 1
92090628986. 2
92090628987. 3
92090628988. 4

Question Number : 48 Question Id : 9209067333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who propounded the doctrine of ‘iron law of oligarchy'?
1. C.B. Macpherson
2. V. Pareto
3. R. Michels

4. J. Schumpeter

Options :

92090628989. 1
92090628990. 2
92090628991. 3
92090628992. 4

Question Number : 48 Question Id : 9209067333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFua 3@ 93 & wiig fFraw &1 ufqureA e ure

(1) .91 ApwEA 2 9 Ra
(3) SR HAEHE (4) OYFIER
Options :

92090628989. 1



92090628990. 2
92090628991. 3
92090628992. 4

Question Number : 49 Question Id : 9209067334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The steep decline in population due to underinvestments in healthcare and
education known as 'demographic disaster refers to

1.  Norway
2. Central Asian States
3. Germany

4. Russia

Options :

92090628993. 1
92090628994. 2
92090628995. 3
92090628996. 4

Question Number : 49 Question Id : 9209067334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY P S@HE R Wen # u-FEw & &R oa9e § siys fiREe &)
SFgifeTe g fquel (SHmitss fEure? ) & am I W 91 o1ar 8, o feue! deiid &Xar 87

(1) 4@ (2) A U I
(3) WHAT @) =9
Options :

92090628993. 1
92090628994. 2
92090628995. 3
92090628996. 4

Question Number : 50 Question Id : 9209067335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which among the following is not a form of authoritarian rule?
1.  Absolute monarchy
2. Military rule
3. Theocracy

4. Direct democracy

Options :

92090628997. 1
92090628998. 2
92090628999. 3
92090629000. 4

Question Number : 50 Question Id : 9209067335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefed & & S 91 amErd URE $1 06 F4 T 82

(1) FRewIEd 2) Gfe IA
3)  uHd (AshgE (4) WY ADbaA
Options :

92090628997. 1
92090628998. 2
92090628999. 3
92090629000. 4

Question Number : 51 Question Id : 9209067336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who amongst these developed the ‘garbage can model’ of policy-making?
1.  Yehezkel Dror
2. James Anderson
3.  Frederick Taylor

4.  Michael Cohen

Options :

92090629001. 1
92090629002. 2
92090629003. 3
92090629004. 4

Question Number : 51 Question Id : 9209067336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafEa 7 9 feaa Hifa Fuin & R &1 wisa @ el fear un

(1) TUgohd SR (2) S TS
3) Theled TR (4) WP Pled
Options :

92090629001. 1
92090629002. 2
92090629003. 3
92090629004. 4

Question Number : 52 Question Id : 9209067337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The power of the Supreme Court of India to decide disputes between the Centre
and the State falls under its

1. Advisory jurisdiction
2.  Appellate jurisdiction
3.  Original jurisdiction

4. Writ jurisdiction

Options :

92090629005. 1
92090629006. 2
92090629007. 3
92090629008. 4

Question Number : 52 Question Id : 9209067337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?@ﬁ%ﬁﬂﬁﬁﬁ%ﬁﬁ%ﬁ&ﬁwwaﬁmﬁﬂmmm
?

(1) FdlgdRI AU GREfsRMA)
(2) iy sffeRar
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4) e sidefe

Options :

92090629005. 1
92090629006. 2
92090629007. 3
92090629008. 4

Question Number : 53 Question Id : 9209067338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following does not find mention in the Preamble to the Indian
Constitution?

1. Dignity of the individual
2. Dignity of the Constitution
3.  Fraternity

4. Unity and integrity of the nation

Options :

920906290009. 1
92090629010. 2
92090629011. 3
92090629012. 4

Question Number : 53 Question Id : 9209067338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R dfde #1 I meaen) § Fafiiaa § feae I ) v T 82

(1) oafda &1 R (2) EfayE &1 i
(3) WYyl (4) XY DI THdl 3R SRGSAl
Options :

92090629009. 1
92090629010. 2
92090629011. 3
92090629012. 4

Question Number : 54 Question Id : 9209067339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is the largest committee of the Parliament?
1. The Committee on Public Accounts
2. The Committee on Estimates
3. The Committee on Public Undertakings

4.  The Committee on Petitions

Options :

92090629013. 1
92090629014. 2
92090629015. 3
92090629016. 4

Question Number : 54 Question Id : 9209067339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4e @ Ffaled § 9 oF 9 9ed 93t gfifd

(1) i o gifa (2) Widha- St
(3) @i Uy FiHfd (4) TIfrep] §iAd
Options :

92090629013. 1
92090629014. 2
92090629015. 3
92090629016. 4

Question Number : 55 Question Id : 9209067340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first ASEAN summit was held in which city/country?
1. Bali (Indonesia)
2.  Manila (Philippines)
3. Singapore

4. Kuala Lumpur (Malaysia)

Options :

92090629017. 1
92090629018. 2
92090629019. 3
92090629020. 4

Question Number : 55 Question Id : 9209067340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for <r8R/aT # UyH 1T fRRER e Sl gai o

(1) =l Gs R (2) A (e
(3) RmgR (4) IATCHYR (HaRE)
Options :

92090629017. 1
92090629018. 2
92090629019. 3
92090629020. 4

Question Number : 56 Question Id : 9209067341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The judges of the International Court of Justice are elected by the
1. General Assembly
2. Security Council
3. General Assembly and Security Council

4.  General Assembly, Security Council and the Trusteeship Council

Options :

92090629021. 1
92090629022. 2
92090629023. 3
92090629024. 4

Question Number : 56 Question Id : 9209067341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farees GRI SRIFTY ~arTerd & =ArTeei &1 91 Sl 87

(1)  HeraH

() WR&TURYg

(3)  HETHT SR Y& uiyg

(4) T, Y& uRug 3R TR 3R

Options :

92090629021. 1
92090629022. 2
92090629023. 3
92090629024. 4

Question Number : 57 Question Id : 9209067342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The South Asian University jointly established by eight-SAARC member States
is at

1. New Delhi
2. Dhaka
3.  Kathmandu

4. Islamabad

Options :

92090629025. 1
92090629026. 2
92090629027. 3
92090629028. 4

Question Number : 57 Question Id : 9209067342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A (CHUL AR F 316 o Il gRI el W GG ¥4 J 93y Ui gRaiidt #i
RTIAT DI 775 o7

(1) s faeed (2) BTl
(3) PIGHIG (4) STAHEG
Options :

92090629025. 1
92090629026. 2
92090629027. 3
92090629028. 4

Question Number : 58 Question Id : 9209067343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is not associated with Cold War?
1.  Creation of Bizonia
2. Nationalization of Suez Canal
3.  Truman Doctrine of Containment

4. Marshall Plan

Options :

92090629029. 1
92090629030. 2
92090629031. 3
92090629032. 4

Question Number : 58 Question Id : 9209067343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa # 8 ®19 2d gg 3 d&fia 78l 82

(1) fesifar e Fa (2) Gl g BT APBI
(3) UHE AP & o i Rigia (4) wrfa Ao

Options :

92090629029. 1
92090629030. 2
92090629031. 3
92090629032. 4

Question Number : 59 Question Id : 9209067344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following realist theorists considered that a basic feature of
international relations is the decentralized structure of anarchy between States?

1.  Hans J. Morgenthau
2. T. Schelling
3. Kenneth Waltz

4. J. Mearsheimer

Options :

92090629033. 1
92090629034. 2
92090629035. 3
92090629036. 4

Question Number : 59 Question Id : 9209067344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad & @ few gurdard Rregraer 3 9F1 o1 & siqrifiy dey &1t ga A
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(1) &9 L AFEd 2) <1 Qfen
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Options :

92090629033. 1
92090629034. 2
92090629035. 3
92090629036. 4

Question Number : 60 Question Id : 9209067345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Reformist ecology is also known as
1. Deep ecology
2.  Social ecology
3.  Humanist or shallow ecology

4. Land ethic

Options :

92090629037. 1
92090629038. 2
92090629039. 3
92090629040. 4

Question Number : 60 Question Id : 9209067345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YurRare oyt &1 fe o=y A wit S e 82

(1) e gRfRufaet

(2) o uRfRufast

(3) HHEAE A HU ar W @an gt
4)  HA-AfdRe

Options :

92090629037. 1
92090629038. 2
92090629039. 3
92090629040. 4

Question Number : 61 Question Id : 9209067346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The full form of NSSP, a pact between India and United States, stands for
1. Next Steps in Strategic Partnership
2.  National Security in Strategic Partnership
3.  Next Step in Security Programme
4.  Nuclear Suppliers Support Partnership

Options :

92090629041. 1
92090629042. 2
92090629043. 3
92090629044. 4

Question Number : 61 Question Id : 9209067346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR 3R ARSI & 9 U GHd UTH.0H 00U T R 1 31 82

(1) AR ®U 37 Lelold Ui-RIR™

2) a3 wefos urd-RRm
(3) A ¥Y 3 Rt v

@)  giFaR TR guie ureAaRiem

Options :

92090629041. 1
92090629042. 2
92090629043. 3
92090629044. 4

Question Number : 62 Question Id : 9209067347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Justice as requital refers to
1. unequal exchange
2. dependent exchange
3.  equality of opportunity
4. fair exchange

Options :

92090629045. 1
92090629046. 2
92090629047. 3
92090629048. 4

Question Number : 62 Question Id : 9209067347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ufded & ©U H A [Fas! defilfd a2

(1)  SRHF 3TEH - e (Tads) (2) SEid JEH-USH
(3)  SEER Bl GHFC 4) 9UEd sMeME-uaH
Options :

92090629045. 1
92090629046. 2
92090629047. 3
92090629048. 4

Question Number : 63 Question Id : 9209067348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is a book by Machiavelli?
1. Discourses
2. Discourse on the Sciences and Arts
3. Discourse on the Qrigin and the Foundation of Inequality Among Men

4. Letter Concerning Toleration

Options :

92090629049. 1
92090629050. 2
92090629051. 3
92090629052. 4

Question Number : 63 Question Id : 9209067348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafead 7 ¥ Afegdd &1 19 9 gias g2

(1) fEusrds

2) feuer &9 o 9y tssndy

3) feusd 3ifF g e U8 BIESYH 3% sAssiae] 3F 54
(4) TR HF TN

Options :

92090629049. 1
92090629050. 2
92090629051. 3
92090629052. 4

Question Number : 64 Question Id : 9209067349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following scholars presented Hobbes' ‘State of Nature' as a
society of self-interested competitive individualism?

1. Quentin Skinner
2. Charles Taylor
3. C.B. Macpherson

4. Harold J. Laski

Options :

92090629053. 1
92090629054. 2
92090629055. 3
92090629056. 4

Question Number : 64 Question Id : 9209067349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Profered 7 4 5 fRgE 3 gfsn 91 ush &1 e @< ot FR) &1 @reff virayfas
SfekiaTg & Ueh THIS & U H Uk fopu ur

(1) SHRAWR 2) e TR
3) & Aewda 4) RIS O ARG
Options :

92090629053. 1
92090629054. 2
92090629055. 3
92090629056. 4

Question Number : 65 Question Id : 9209067350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which of Aristotle’s works, it is stated that the highest good for human beings
is happiness, attained through moral and intellectual virtue?

1. Politics
2. Metaphysics
3. Eudemian ethics

4. Nicomachean ethics

Options :

92090629057. 1
92090629058. 2
92090629059. 3
92090629060. 4

Question Number : 65 Question Id : 9209067350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 B forg 3fa 7 ug de1 a1 € 6 wwil & few S=an fed s Sik fg®s woqur &
HIEH ¥ U S T8 U9Hal o7

(1)  difeieadd (2) Helfbfoay
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Options :

92090629057. 1
92090629058. 2
92090629059. 3
92090629060. 4

Question Number : 66 Question Id : 9209067351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : G. Sartori has presented a comprehensive analysis of multi-
party system.
Reason(R) : Sartori classified political parties in four types—caucus,

branch, cell and militia.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090629061. 1
92090629062. 2
92090629063. 3
92090629064. 4

Question Number : 66 Question Id : 9209067351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090629061. 1
92090629062. 2
92090629063. 3
92090629064. 4

Question Number : 67 Question Id : 9209067352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : According to Plato, “the State is individual writ large”.
Reason (R) : The virtues found in an individual are found in larger form in
the State.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct



Options :

92090629065. 1
92090629066. 2
92090629067. 3
92090629068. 4

Question Number : 67 Question Id : 9209067352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1a &1 By f3U U § TP SHUSYA (Assertion A) B EU  H fafEd g @ U0 39D BR
(Reason R) F¥Y H:

HAUPYT A : Wl & SFER ‘A Afdd H1 fave WEa 5" |

HRUIR : Ush fdd H U 719 aTel ¥eT[ul Il O i 98 U T U eld & |
IR HYF & 3fidid H, 9 QU 17U fahedl § 9 e I9ge IR &1 99 Difelw

(1)  ASJRRIH GBI € SRR A DI UE T &

2) ASRREH ¥El g, dfd R, A F1 Ul ARAT 6] §
3) AUGE ABIRTA TR

(4) AYETEIE AfPT R E

L

Options :

92090629065. 1
92090629066. 2
92090629067. 3
92090629068. 4

Question Number : 68 Question Id : 9209067353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Gandhi supported Panchayati Raj Institutions for a better

administration.

Reason (R) : Ambedkar condemned the panchayats as a repressive and

oppressive institution.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.

2.

3.

4.

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are correct but (R) is not the correct explanation of

(A)
(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

92090629069. 1
92090629070. 2
92090629071. 3
92090629072. 4

Question Number : 68 Question Id : 9209067353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fia €1 FYF AU U § U SHHFHUA (Assertion A) T FY  H ffed 2 o TR 39S R
(Reason R) & ¥Y H;

MHFYT A - TR A U dgoR U & o vt T SRarsit &1 gudE fear |
HRUIR : ESH A TP IASABN] 3R SHIPR] HRT & w9 § damdl @ Far &

o |

SURIE HYA & 3idle |, g RU T fasedl #§ ¥ 998 Iuged IR &1 944 Hif

(1)
(2)
(3)
(4)

A 3R R T U8 & IR R, A F1 W&l Ar= &

A 3R R 3FI T8l €, Afd R, A T 98! eI 8l &
A e 8, A R Gl AT ®

ATEI TR E AfFTrud B



Options :

92090629069. 1
92090629070. 2
92090629071. 3
92090629072. 4

Question Number : 69 Question Id : 9209067354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Robert Nozick illustrated negative liberty in his writings.

Reason (R) : According to Robert Nozick, the primary threat to liberty is the
imposition of obligation to which one has not consented.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of
(A)

3. (A)is correct but (R) is not correct

4.  (A)is not correct but (R) is correct

Options :

92090629073. 1
92090629074. 2
92090629075. 3
92090629076. 4

Question Number : 69 Question Id : 9209067354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#1a g1 $u fou MU § T SifUPHUA (Assertion A) F U H fRad & ol g1 39D DRUI
(Reason R) B ®Y #:

HUBYA A :  Jde AP 3 304 oG | ABRIeS Wadl &l Wy faear |

HRUIR : ad Jifoie & AR WoFdl B WUHS Tar1 39 i &1 Ao ¢, g
&R 7 fbdt A wewia 1 7E1 2 |

JUE HY & 3fTdie H, A iU 10 fadedl #§ 9 998 Iugad 3Tk &1 994 IS

(1) ASRRIATTEIE IR R A P Uel RS 8

(2) A SIRRIE UE B A R, A DT WE AR AL &
(3) AWEE AFARIG AR

(4) AHEITEIE AfPTREEE

Options :

92090629073. 1
92090629074. 2
92090629075. 3
92090629076. 4

Question Number : 70 Question Id : 9209067355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Five principles of peaceful coexistence known as
‘Panchsheel’ which is one of the fundamental principles of
India's foreign policy.

Reason (R) : Providing equal space is one of the five principles of
Panchsheel.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090629077. 1
92090629078. 2
92090629079. 3
92090629080. 4

Question Number : 70 Question Id : 9209067355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1= 21 Fy U MU € UH SfUFHUA (Assertion A) F ¥ H ffad & A g1 IS SR
(Reason R}%W ﬁ;

sty A - oyl 9g-siftda & uia Rigidl &) de=iia & ¥4 & oF 9 ¢, o YRd
Fl few i & g Rgidddw e |

HRUR: vaeia & Rigidl & 3 U, 90 ®F UeH 3 ¢ |

SURIE Y & 3fdid H, I 13U 7 fab el | § el Iugdd I &1 994 Hifore

(1) AR RGH U8l & 3R R, A I el BN &

2  ASRRIH el §, AfF R A D1 G AR TE &
(3) AW AFIRUS TEIT

(4) AW TEIE AFTRISR

Options :

92090629077. 1
92090629078. 2
92090629079. 3
92090629080. 4

Question Number : 71 Question Id : 9209067356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Reservation of a State bill for the assent of the President is a
discretionary power of the Governor.

Reason (R) : This could be achieved through amending Article 156 of the
Indian Constitution.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true



Options :

92090629081. 1
92090629082. 2
92090629083. 3
92090629084. 4

Question Number : 71 Question Id : 9209067356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

911 €1 $YF QU U § U SAHFYA (Assertion A) & FU  H foiled 8 o g8R1 39F HRU
{(Reason R}%F‘I ﬁ;

HHFHYT A : T & B [J9gs &1 apuld &1 owid & o smRem Isgara &1
fadIeR ¢ |

PHRUIR ; ﬁugﬁnﬁﬁmu%aﬁu—%aﬁﬂsﬂm%mm@lwmm
I g |

IR Y & 3feie |, i 23U 7 fahal 7 9 el Iugd I &1 999 Hifou

(1) ASIRRGH T8l 3R R, A Bl g AT S

2) ASRRIH TElIE AFTR AT el AR S &
3) AUEE ABTRTS TR

(4) AWE TR, APTR TG &

Options :

92090629081. 1
92090629082. 2
92090629083. 3
92090629084. 4

Question Number : 72 Question Id : 9209067357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Judicial review is a process to restrain the executive or the
legislature from exercising power which may not be
sanctioned by the Constitution.

Reason (R) : The source of the power of judicial review in India is Article 12
of the Constitution.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090629085. 1
92090629086. 2
92090629087. 3
92090629088. 4

Question Number : 72 Question Id : 9209067357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 1 $uA QU MU § UH SHUBUA (Assertion A) B FU  H [iREd g df TR1 39S HRU
(Reason R) F ¥Y T

B YA A - IS G BRI a1 fau HUed &1 34 Uidadl & UORT HE IR
3 T @1 Ueb Uighdl g [ diaey™ gR1 Sdiga =gl &1 o1 wavdi 8 |

HRUIR: YRA ¥ 1A Qe ot i &1 Aid U@ &1 o we - 128 |
SRIF $YA $ 3l H, 12 U 1T fahedl & 9 999 Iugad I &1 994 SIS

(1) A SIRREH TSl € 3R R, AP Ugl RS &

(2) ASIRR I 9ol g, Al R, A DI 9l UraT 781 &
(3) AUSE AFTRUA TR

(4) AUEITRIE ABIRTE R



Options :

92090629085. 1
92090629086. 2
92090629087. 3
92090629088. 4

Question Number : 73 Question Id : 9209067358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following statements by Rabindranath Tagore on Indian nationalism
in order :

A. Politics in the West have dominated western ideals, and we in India are
trying to initiate you.

B. Our real problem in India is not political. It is social.
C. Each nation must be conscious of its mission.

D. From the very beginning, India has a problem of race.

Choose the correct answer from the options given below :

1. B ACD

2. B, ADC

3. ACBD

4 A,C,DB
Options :

92090629089. 1
92090629090. 2
92090629091. 3
92090629092. 4

Question Number : 73 Question Id : 9209067358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dlg 71 &R & HRd Apare W Fafifad sy 1 98 s | srafd fHi

A.

B.
C.

D.

aigH ¥ e @1 ufde sresl 1R gdvd W81 § SR gH YRA H S ¥ 3SR HRA
FITHIAEE |

YRd § gAr arafds arieie wen TeHifs 78 8, afes ug aieis @
U Y B 39 A & aR 7 ¥ g1 =1iey
HRA § IR ¥ & ueifa (W) &1 Us THR 8

12 fau v fasedi @ 9 9l IR &1 994 Sl

(1)
(2)
(3)
(4)

B, A, C 3R D
B,A D3RC
A C, B, 3R D
A C,D3IRB

Options :

92090629089. 1
92090629090. 2
92090629091. 3
92090629092. 4

Question Number : 74 Question Id : 9209067359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is Karl Marx’s formulation of ‘Base and Superstructure’ in a jumbled
order. Give the correct order :

A. The relations are relations of productions which correspond to a definite
stage of development of their material productive forces.

B. The relations are indispensable and independent of their will.

C. The sum total of these relations of production constitutes the economic
structure of society, the real foundation of a given society.

D. In social production of life, men enter into definite relations.

Choose the correct answer from the options given below :

i. D,A,C,B

2. D,B.AC

3. B,ADC

4. B,C,AD
Options :

92090629093. 1
92090629094. 2
92090629095. 3
92090629096. 4

Question Number : 74 Question Id : 9209067359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 v g 9% HH § H1d 7 B YR SR SRR (@ TS YREEER) 1 97 B
T E | 9P el 3FshH Jars:

A U &Yy IATeT TaY g, ol 9% Hifde IJage idadl & 9™ & ue Ry o &
ITEUEAE |

B. UYHEY NG § 3R TR THI A WAAEd g |

C. JdIEA® 34 dasl &1 AN IH AT DI 3H1fefes TTTAT BT T34 Bl €, o U UeH
AN & adia® YRR 8

D. ©itgd & "HIv® I | aafad fAfdd ddy dufay svar g
19 fou e fasedi 1 9§ el IR &1 994 Sifory ;

(1) DACB

(2) D,BAC

3) BADC

4 BCAD
Options :

92090629093. 1
92090629094. 2
92090629095. 3
92090629096. 4

Question Number : 75 Question Id : 9209067360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following statements by Mahatma Gandhi on civilization in right
order :

A.  This civilization takes note neither of morality nor religion.
B. Civilization is not an incurable disease.

C. The people of Europe today live in better-built houses than they did a
hundred years ago. This is considered emblem of civilization.

D. This civilization is such that one has only to be patient and it will be
destroyed.

Choose the correct answer from the options given below :

1. C,A,B,D

2. DACB

3. C,A,D,B

4. D,ABC
Options :

92090629097. 1
92090629098. 2
92090629099. 3
92090629100. 4

Question Number : 75 Question Id : 9209067360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HerH Tith & 9wl ) Fafdiad sy o1 98t srmn | afed fefor |

A,
B.
C.

D.

a9 a1 Afed, TR e m e T R
HIdl U 391e I A6l &

aoAE H 939 & @ U A1 9y gd & ga d der o 4 Affa neri A wa € 138
Gl & Uciich |1 STl @

gg W1 391 a8 @1 ¢ [ aafdy &1 Sdam g1 8 oik gg Ay f wuvdt

1= feu e faswedi # § Ul 39 &1 994 Hifg -

(1) CABSRD

(2) D,A C3RB

(3) C A DS3MB

(4) D, ABS3RC
Options :

92090629097. 1
92090629098. 2
92090629099. 3
92090629100. 4

Question Number : 76 Question Id : 9209067361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order according the year of joining the
European Council / European Union :

A. Spain

B. Croatia
C. Greece
D. Bulgaria

Choose the correct answer from the options given below :

. D:GB:A

2. B.,CAD

3. ADBC

4 CADB
Options :

92090629101. 1
92090629102. 2
92090629103. 3
92090629104. 4

Question Number : 76 Question Id : 9209067361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafiieT & @iy uRue g 99 § 9fifed 89 & 9 & YR TR SIadpHaR
E’R‘ﬂ@lﬂm:

1= fau 7o fawedi # § 9l 39 &1 9894 il :

(1) DCBA
(2) B CAD
(3) ADBC
4 CAD,B
Options :
92090629101. 1
92090629102. 2

92090629103. 3
92090629104. 4

Question Number : 77 Question Id : 9209067362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order with regard to its year of formation :
A.  ASEAN

UN

SAARC

EU

NAM

mo o

Choose the correct answer from the options given below :
1. B,A,D,C,E
2. ABCED
32 B.,EACD

4. A ED,CB



Options :

92090629105. 1
92090629106. 2
92090629107. 3
92090629108. 4

Question Number : 77 Question Id : 9209067362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiad &1 39d Fmiu & o & STUR W SR aRyd feion
A. IR (ASEAN)

B. WY Y (UN)
C. I (SAARC)
D. Yl 4d (EU)

E. 7[¢ F0a sfigia (NAM)
= fau v fawedl #§ ¥ Wl SR &1 =g S ;

(1) B,ADCE
(2} ABCED
3y BEACD
4 AEDEB

Options :

92090629105. 1
92090629106. 2
92090629107. 3
92090629108. 4

Question Number : 78 Question Id : 9209067363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following provisions according to the Constitution of India :

A. Freedom of conscience and free profession, practice and propagation of
religion

Protection of interests of minorities
C. Prohibition of employment of children in factories

D. Protection in respect of conviction for offences

Choose the correct answer from the options given below :

1. A, B,D,.C

2 BACD

3. C.D.B.A

4 D,CAB
Options :

92090629109. 1
92090629110. 2
92090629111. 3
92090629112. 4

Question Number : 78 Question Id : 9209067363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafeied Iudsdl &1 R JfayH & SFuR gaiyd fefn

A, SA:H0 DI AR HH BT @Y TY Y HAA, JHDT AR Ud YR B DI Tasidl
B. SfeqdwH® alll & fgal &1 T

C. FHREH Has] $ FareE &1 ufay

D. 3O & for SIS & Hay H e

1= feu 7o faeedi § 9§ 9el I &1 944 Bifer

(1) ABDC

(2) BACD

(3) CD, BA

(4 DCAB
Options :

92090629109. 1
92090629110. 2
92090629111. 3
92090629112. 4

Question Number : 79 Question Id : 9209067364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following fundamental rights in the right order :
A. Right to constitutional remedies
B. Rightto life
C. Right to freedom
D

Right to equality

Choose the correct answer from the options given below :

1. D,C,B /A
2. CDAB
3. C,B,AD

4 DCAB



Options :

92090629113. 1
92090629114. 2
92090629115. 3
92090629116. 4

Question Number : 79 Question Id : 9209067364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad Ja siteri & |8l erpn # arafiyd S
A, HiduHe IUER &1 HfUHR

B. Gildd &1 3MfUdR

C. Al BI SHUPR

D. HHME &I 3R

14 fow e faeredl # § gl IR &1 99 Sifo :

(1 DCBA
(2) CDAB
(3) CBAD
(4 D CAB
Options :

92090629113. 1
92090629114. 2
92090629115. 3
92090629116. 4

Question Number : 80 Question Id : 9209067365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Party alliances since the 1990s have been on territorial
compatibility than ideological compatibility.

Statementll : BJP's alliances of 1998, 1999, 2004 and 2009 were not
territorially compatible.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090629117. 1
92090629118. 2
92090629119. 3
92090629120. 4

Question Number : 80 Question Id : 9209067365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE AT AT -

Y1 ;1990 ¥ Ul ToEYH dUIRE FEUAl & SuU USRI el (eReRad
Frifafere)) $ MR WL E |

FHYTII: 1998, 1999, 2004 3R 2004 3R 2009 F S (MR ST Uil & TSa8
eI ¥4 ¥ S FY el ¥ |

I By & el H A 20 70 fawedl § 8 |l I 999 Sifog

(1) FYFISRISAI9ds

(2) WY SR I EH S E

(3) HYTIHI G, AlFT HYT 1l A 8

(4) HYF| TG, AfbT HYT 1 T B

Options :



92090629117. 1
92090629118. 2
92090629119. 3
92090629120. 4

Question Number : 81 Question Id : 9209067366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Plato stated, “that the State comes into existence originating
in the bare needs of the life and continuing in existence for the
sake of good life.”

Statement 1l :  Machiavelli, in the Prince, considered that “the power which
has Authority over Men" is the State.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090629121. 1
92090629122. 2
92090629123. 3
92090629124. 4

Question Number : 81 Question Id : 9209067366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS FERumE:

BUA| : Wl A Bl Ul — '™ Sliaq DI daa agddrsl # IgHd gidx ffd & STl
2 3R 35 Siiad TR & BRI forg iffrd & IR warg 1

YT :  Diegad 7 T U= & 71 41 [ safda W 9«1 W arel Iied I §
JUIF HYF & 3ficid |, [l 18U 710 [awedl & 9 el Iavd! 994 S

(1) HYF ISR NS TG 8
2) YT SRS I
(3) YT A, Al HY 1| S 8
(4) Y| TG T, Afh PUA 1| T &

Options :

92090629121. 1
92090629122. 2
92090629123. 3
92090629124. 4

Question Number : 82 Question Id : 9209067367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : Robert Michels used the concept of ‘iron law of oligarchy’ to
describe the organization of political parties based on
domination by a ruling elite.

Statement |l : Maurice Duvergers law states that “the simple-majority
single-ballot system favours the two-party system”.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :



92090629125. 1
92090629126. 2
92090629127. 3
92090629128. 4

Question Number : 82 Question Id : 9209067367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) YIRS TT 8

(2) Y| SR I EH T &

(3) YA | Td &, Al Y |l 3 8
(4)  HYF | AEG g, dfh HYA 1 A &

Options :

92090629125. 1
92090629126. 2
92090629127. 3
92090629128. 4

Question Number : 83 Question Id : 9209067368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Theorists of global justice argue that the human beings, and
the State, are central to any theory of justice.

Statement!ll : Thomas Pogge rejected the existence of institutional
precondition for justice at the global level.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090629129. 1
92090629130. 2
92090629131. 3
92090629132. 4

Question Number : 83 Question Id : 9209067368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



92090629129. 1
92090629130. 2
92090629131. 3
92090629132. 4

Question Number : 84 Question Id : 9209067369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : During the first wave of democracy (1828-1926) nearly 30
countries, including Germany, established democratic
institution.

Statement Il :  The first wave of democracy was partially reversed (reverse

wave) between 1922 and 1942 in Germany and ltaly.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3 Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true

Options :

92090629133. 1
92090629134. 2
92090629135. 3
92090629136. 4

Question Number : 84 Question Id : 9209067369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090629133. 1
92090629134. 2
92090629135. 3
92090629136. 4

Question Number : 85 Question Id : 9209067370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Article 226 of the Indian Constitution deals with
1. transfer of a judge
2 appointment of acting Chief Justice
3. appointment of additional judges

4.  power of High Courts to issue certain writs

Options :

92090629137. 1
92090629138. 2
92090629139. 3
92090629140. 4

Question Number : 85 Question Id : 9209067370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) =TT &1 ™ER

2) @ SR e gyl $1 g
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4)  Siaud Rew o #31 & fau 3= array &1 Uidd

Options :

92090629137. 1
92090629138. 2
92090629139. 3
92090629140. 4

Question Number : 86 Question Id : 9209067371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement| : Popular democracy is a form of indirect democracy.
Statement !l : It pre-supposes factional or sectional division.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true
Options :

92090629141. 1
92090629142. 2
92090629143. 3
92090629144. 4

Question Number : 86 Question Id : 9209067371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090629141. 1
92090629142. 2
92090629143. 3
92090629144. 4

Question Number : 87 Question Id : 9209067372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true about representative democracy?
A.  Simple majority means more than half of those voting.

B. Blocking minority reflects a situation where a minority is able to prevent a
proposal from passing.

C. Absolute majority means more than half of those entitled to vote.

D. Qualified majority demonstrates more than a simple majority which is
typically two-third majority.

E. Concurrent majority indicates the largest number of votes but not
necessarily a majority.

Choose the correct answer from the options given below :
1.  A.Band C only
2. DandE only
3. A B,CandDonly
4. A, B, CandE only

Options :

92090629145. 1
92090629146. 2
92090629147. 3
92090629148. 4

Question Number : 87 Question Id : 9209067372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafEa 7 8 $19 8 Hy= ufafAfte deds F IR A wel g 2

A. YR ggHd &1 Y AaaH BTl I 1Y F S{US I
B. IHARIYSD eqdied T Ush Wi Rufd &1 uiafdfaa svar g, 98l sreqnd 63t uard &1
uiied 9 9 AP T 9&H gl &

C. Ui 5gHd &1 3 g $ & ghar] &1 o J 3t 3

D. wiftE mmwmmmﬂ&mﬂm%@mm
@ra’lfé‘laﬁagnﬂiﬂm

E. mﬁggmmﬁ&%mﬁmﬁ?ﬁmm 8, dftp Ug 3Maws Jel ¢ &
qgHd

14 fau e fasedi & 9 Wel SR &1 994 Sifou ;

(1) @ad A B3RC
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(3) ®dd A BCS3RD
(4) Hdd A B, C3RE

Options :

92090629145. 1
92090629146. 2
92090629147. 3
92090629148. 4

Question Number : 88 Question Id : 9209067373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are correct about the Governor of a State?

A.  The Governor holds office during the pleasure of the President.

B. The minimum age for getting appointed as a Governor is 30 years.
C. The President conducts the Oath of the Governor.
D

The Governor has the power to grant pardons and to suspend, remit or
commute sentences in certain cases.

E. The Seventh Constitutional Amendment Act mandates both the States to
share the emoluments and allowances of the Governor in case the same
person is appointed as Governor of two States.

Choose the correct answer from the options given below :
1. C,Dand E only
2. A, C,DandE only
3. A BandConly

4. A, DandE only
Options :
92090629149. 1
92090629150. 2
92090629151. 3
92090629152. 4

Question Number : 88 Question Id : 9209067373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) @&dd C, D, E

(2) &add A C D3RE

(3) @ad A B3RC

(4) HAd A D IE
Options :

92090629149. 1
92090629150. 2
92090629151. 3
92090629152. 4

Question Number : 89 Question Id : 9209067374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about legal equality?
Legal equality does not guarantee equality of treatment by the law.
Legal equality contradicts rule of law.

Legal equality is a prominent characteristic of civil society.

Legal equality does not abolish special privileges.

m o o =B »

Legal equality cannot be the basis for contract based relations.
Choose the correct answer from the options given below :

1. A, CandE only

2. AandC only

3. CandEonly

4.  AandD only

Options :

92090629153. 1
92090629154. 2
92090629155. 3
92090629156. 4

Question Number : 89 Question Id : 9209067374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &dd A C3RE
(2) @&ad A3MRC
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(4 &ad ASRD

Options :

92090629153. 1
92090629154. 2
92090629155. 3
92090629156. 4

Question Number : 90 Question Id : 9209067375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about institutional liberalism in
international relations theory?

A. Institutional liberals claim that international institutions help promote
cooperation between States.

B. The extent of institutionalization can be measured by depth and scope.

C. A high level of institutionalization reduces the destabilizing effects of
multipolar anarchy.

D. The role of institutions lies in strengthening international agreements.
E. Institutions however cannot make up for lack of trust between States.
Choose the correct answer from the options given below :

1. A,B,CandD only

2. B,C,DandE only

3. A, CandDonly

4. A, C,DandE only

Options :

92090629157. 1
92090629158. 2
92090629159. 3
92090629160. 4

Question Number : 90 Question Id : 9209067375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=13 fau o fasei # @ el IR &1 994 Sifore :

(1) ®ad A B, C3RD

(2) &4d B,C, D3RE

(3) ®ad A C3RD

(4) dd A C, DIARE
Options :

92090629157. 1
92090629158. 2
92090629159. 3
92090629160. 4

Question Number : 91 Question Id : 9209067376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about the different approaches
to the study of comparative politics?

A. Institutional analysis examines the functioning of and relationships between
institutions in a given moment.

B. New institutionalism is a revival of institutionalism that looks at how
institutions shape decisions and define interests.

C. The behavioural approach focuses on the study of constitutions, institutions
and organizational charts.

D. Structuralism examines relationships among parts rather than the parts
themselves.

E. The rational choice approach explains political action through statistical
generalization rather than interest of the actors.

Choose the correct answer from the options given below :
1.  A,Band D only

2. A, BandConly
3. A CandEonly

4. B, DandE only

Options :

92090629161. 1
92090629162. 2
92090629163. 3
92090629164. 4

Question Number : 91 Question Id : 9209067376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ad A, B3RD

(2) ad A BIRC

(3) ®ad A, C3IRE

(4) Hdd B, DIRE
Options :

92090629161. 1
92090629162. 2
92090629163. 3
92090629164. 4

Question Number : 92 Question Id : 9209067377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It has been found about the Election Commission of India
A. The end of emergency led to decline of the Election Commission of India
B. Inthe 1990s, the Commission faced regulatory activism

C. The assertiveness of the Election Commission was largely due to an alert
media and strong opposition

D. Even, the Chief Election Commissioner, T. N. Seshan contributed to
protecting the sanctity of democratic elections

Choose the most appropriate answer from the options given below :
1.  A,BandC only
2. B,CandDonly
3. A, CandDonly

4. A, BandD only

Options :

92090629165. 1
92090629166. 2
92090629167. 3
92090629168. 4

Question Number : 92 Question Id : 9209067377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090629165. 1
92090629166. 2
92090629167. 3
92090629168. 4

Question Number : 93 Question Id : 9209067378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On the question of State sovereignty
A. Issues of global concern cannot challenge external sovereignty of the State

B. Such issues cannot bring multilateral pressure on decision making of the
States

C. Human rights movements affect the policy of internal security of the States

D. Human rights issues are also deployed by the States to influence each
other's decisions

Choose the most appropriate answer from the options given below :
1. A andB only
2. CandD only
3. AandDonly

4. B and C only

Options :

92090629169. 1
92090629170. 2
92090629171. 3
92090629172. 4

Question Number : 93 Question Id : 9209067378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090629169. 1
92090629170. 2
92090629171. 3
92090629172. 4

Question Number : 94 Question Id : 9209067379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-l :

List— List-I1
Theories of Nationalism Theorist
(A) | Primordialism (1) Ernest Gellner
(B) | Ethno-symbolism (1) | Adrian Hastings
(C) | Perennialism (1) | Anthony Smith
(D) | Modernism (IV) | Walker Connor

Choose the correct answer from the options given below :
1T (A (BHIV): (C)=(1): (D)=(1)
2. (Al (By(1); (CH=(IT): (DHIV)
3. (A (B)=(1): (CH(IV): (D)1
4. (A(IV): (B)=(H1); (CH(1): (D))

Options :

92090629173. 1
92090629174. 2
92090629175. 3
92090629176. 4

Question Number : 94 Question Id : 9209067379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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19 fau v fawedi O 9§ 9El I &1 994 Sifer:

(1) (A=), (B)-(1V), (C)-(11), (D)-(111)

(2) (A, (B)-(1), (C)-(11), (D)-(IV

(3)  (A)-(), (B)-(I1), (C)-(IV), (D)-(I)

@) (A-(V), (B)-(), (O)-(), (D)-(D)
Options :

92090629173. 1
92090629174. 2
92090629175. 3
92090629176. 4

Question Number : 95 Question Id : 9209067380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—Il :

List— List-Il
Political Thinkers Books
(A) | Mary Wollstonecraft (Iy | Sexual Politics
(B) | Kate Millett (1) | The Female Eunuch
(C) | Germaine Greer (1) | A Vindication of the Rights of
Woman
(D) | Judith Butler (IV) | Gender Trouble

Choose the correct answer from the options given below :
(A)y=(l1n; (B)=(I1); (C)-(IV): (D))
2. (AW-(lI); (B)(IV); (C)-(1); (D))
3. (A(I); (B)~{1); (C}-(Il); (D}-(IV)
4. (AN (B)(1): (C(IV); (D))

-

Options :

92090629177. 1
92090629178. 2
92090629179. 3
92090629180. 4

Question Number : 95 Question Id : 9209067380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(IIT), (B)-(ID), (C)-(IV), (D)-(D)
(2) (A)-(III), (B)-(IV), (C)-(I), (D)-(IV)
(3) (A)-(IID), (B)-(I), (C)-(ID), (D)-(IV)
(4)  (A)-(IID, (B)-(I). (C)-(IV). (D)-(IL)

Options :

92090629177. 1
92090629178. 2
92090629179. 3
92090629180. 4

Question Number : 96 Question Id : 9209067381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-II :

List-I List-l
Philosophers Central Idea
(A) | Machiavelli (I) | Self-preservation
(B) | Hobbes () | General will
(C) | Locke (ll) | Seize absolute authority
(D) | Rousseau (IV) | Limited government

Choose the correct answer from the options given below :

1. (AR (BI(IV): (CH(1): (D)D)

2. (A(IV); (B)(1): (C)=(I1); (D)=(lll)
3. (A)-(); (B)(1): (C)-(V); (D)-(1I)
4. (A(IV); B-I); (C)-{1); (D)-(l1)
Options :

92090629181. 1
92090629182. 2
92090629183. 3
92090629184. 4

Question Number : 96 Question Id : 9209067381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(), (B)-(1v), (O-(1), (D)-(1N)
(2)  (A-(1V), (B)-(I), (C)-(1), (D)-(HN)
(3)  (A)-(l), (B)-(1). (O)-(IV), (D)-(II)
(4)  (A)-(v), (B)-(I), (©-(D), (D)-()

Options :

92090629181. 1
92090629182. 2
92090629183. 3
92090629184. 4

Question Number : 97 Question Id : 9209067382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—! with List-ll :

List—I List—II
Writs Corresponding Meaning
(A) | Habeas Corpus (I) | Enquiring into the legality of the claim
to a public office
(B) | Mandamus () | Command
(C) | Certiorari () | To have a body
(D) | Quo Warranto (IV) | Quash the order or decision of the
tribunal

Choose the correct answer from the options given below :

T (AR (BYI) (CR=(H); (DHIV)

2. (A(IV); (B)=(II); (C)=(I1); (D)~(1)
3. (A(I; (B)(I1); (CH-IVY; (D))
4. (AI); B)=(lIL); (C)1): (D)~(IV)
Options :

92090629185. 1
92090629186. 2
92090629187. 3
92090629188. 4

Question Number : 97 Question Id : 9209067382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1 (A0, B)-(1), (O)-(1), (D)}-(IV)

)~
(2} (A)-(V), (B)-(IH1), (C)-(11), (D)-(1)
(3) (A, (B)-(11), (C)-(1V), (D)-(D)
(4) (A=), (B)-(I), (C)-(1), (D)-(IV)

Options :

92090629185. 1
92090629186. 2
92090629187. 3
92090629188. 4

Question Number : 98 Question Id : 9209067383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-II :

List— List—!I
Electoral System Countries
(A) | Single member plurality (I} | Ireland
(B) | Single transferable vote (1) | Germany
(C) | Mixed member proportional (lI1) | South Africa
(D) | List system (IV) | Canada

Choose the correct answer from the options given below :
1. (AIV); (B)(1); (C)=(I1); (D))
2. (Al (B)~(1): (CH-(I): (D)(IV)
3. (A(IV); Bl (C)~(1); (D))

4. (A (BYHIV): (C)-(1); (D))

Options :

92090629189. 1
92090629190. 2
92090629191. 3
92090629192. 4

Question Number : 98 Question Id : 9209067383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A=), (B)-(1), (C)-(IN), (D)-(IH1)

(2) (A=, (B)-(1), (C)-(I), (D)-(IV)

(3)  (A)-(V), (B)-(1), (O)-(1). (D)-(1N)

(4)  (A)-(ln), (B)-(IV), (C)-(IN), (D)-(1)
Options :

92090629189. 1
92090629190. 2
92090629191. 3
92090629192. 4

Question Number : 99 Question Id : 9209067384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=l| :

List— List—Il

(A) | Wilson's Fourteen Points, speech (I) | Triumph of liberalism
over all other ideologies

(B) | Francis Fukuyama's The End of | (ll) | Creation of regional
History parliaments

(C) | David Held's cosmopolitan model (II1) | A general association of
of democracy nations must be formed

(D) | G. John lkenberry's crisis of the | (IV) | The erosion of
liberal order sovereignty norms

Choose the correct answer from the options given below :

1. (A(I); (B)=(I); (C-(1V); (D))
2. (A(IV); B)-(): (C)=(11); (D))
3. (A (B)(1): (C)(Il); (D)(IV)
4. (A(I): (BI(I); (C)(I); (DI(1V)

Options :

92090629193. 1
92090629194. 2
92090629195. 3
92090629196. 4

Question Number : 99 Question Id : 9209067384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A=), (BY-(I1), (C)-(V). (D)-(1)
(2)  (A)-(V), (B)-(I), (C)-(), (D)-(1t)
(3)  (A)-(l), (B)-(1), (C)-(IN), (D)-(IV)
(@) (A=), B)-(1), (C)-(1), (D)-(IV)

Options :

92090629193. 1
92090629194. 2
92090629195. 3
92090629196. 4

Question Number : 100 Question Id : 9209067385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=ll :

List—I List—I

Directive Principles of State Policy Article

(A) | Organization of village panchayats (1) | Article 49

(B) | Workers participation in management (1) | Article 40

(C) | Protection of monuments () | Article 50
(D) | Separation of judiciary from executive (IV) | Article 43A

Choose the correct answer from the options given below :
(A)=(11); (B)=(IV); (C)=(1); (D)—(111)
2. (A(ID; (B}=(IV): (C)=(1); (D)
3. (AX(V): (B)(1); (C)=(I); (D)-=(IN)
4. (AR(); (BYHIV): (CH(1): (D)-(IN)

—

Options :

92090629197. 1
92090629198. 2
92090629199. 3
92090629200. 4

Question Number : 100 Question Id : 9209067385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1} (A=), (B)-(IV), (©)-(1), (D)-(1)
(2) (A=, (B)-(IV), (O)-(1), (D)-(1)
(3)  (A)-(V), (B)-(1), (C)-(Il1), (D)-(1N)
(4} (A)-(n), (B)-(V), (Q)-(1), (D)-(1)

Options :

92090629197. 1
92090629198. 2
92090629199. 3
92090629200. 4



